wasidiuduasiniaa ( Sananamall )

L. Y- J

%ia:

x10% =9

x 40% = 8

x 60% = 20.4
x 40% = 40
x10% =2.4
x 60% = 5.4
x30% = 1.5
x 90% = 78.3
x 50% = 36

x 40% =104
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Jui:
x10% =29
x 90% = 27
x30% = 1.8
x 20% = 20
x 80% = 6.4
x 90% =45
x 80% = 8
x40% = 1.6
x30% =9.3
x60% =174

ASLLUU:




wasidfuduasinia ( fananamall)

%ia:

90 x 10% =9

20 x40% = 8

34 x 60% = 20.4

100 x 40% = 40

24 x10% =24

9 x60% = 5.4

5x30% = 1.5

87 x90% = 78.3

72 x 50% = 36

26 x40% = 10.4
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UNA: ATULUY:

29 x10% = 2.9

30 x 90% = 27

6 x30% = 1.8

100 x 20% = 20

8 x 80% = 6.4

50 x 90% = 45

10 x 80% = 8

4 x40% = 1.6

31 x30% =9.3

29 x60% =17.4
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